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<4 DETAILS OF RECRUITMENT RALLY
GP-Y S)} & GP-Y (AGI
FROM 05 JUN TO 11 JUN 17
Venue: Indoor Stadium, Near Budha Talab, Raipur (CG)
Details of Testing Schedule:
Sl. No | Date Selection Program | Districts
1. 05 Jun 17 | Reporting of 15 ASC at Raipur for Adm Arrangement
2. 06 Jun 17 | Reporting of CASB, ASC and IOs to Raipur (By 1200 H)
3. 06 Jun 17 | Rally Briefing followed by area familiarization (At 1500 H )
4 07 Jun 17 | Group - Y {IAF(S)} PFT & Dantewada (Dakshin
Written Test Bastar), Bastar (Jagdaipur).
5 08 Jun 17 | Group - Y {IAF(S)} AT-1 & AT-ll | Durg, Raipur, Raigarh,
Rajnandgaon, Dhamtari,
Mahasamund Kanker (Utiar
bastar) Bijapur, Sukma,
Kondagaon, Narayanpur,
Gariyaband and Balod
districts of Chhatiisgarh
(Expected tumout 1000 to
1500 candidates)
6 09 Jun 17 | Group - Y (AGI) Written Test & | Dantewada (Dakshin
AT Bastar), Bastar (Jagdalpur)
7 10Jun 17 | Group - Y (AGI) PFT & AT-lI Durg, Raipur, Raigarh
Mahasamund Kanker (Uttar
bastar) Bijapur, Sukma,
Kondagaon, Narayanpur,
Gariyaband and Balod
districts of Chhattisgarh
(Expected tumout 1000 to
1500 candidates)
8 11Jun 17 | Summary
A
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SYLLABUS- ENGLISH
FOR GROUP ‘X' & 'Y'TRADES

Comprehension

A small passage followed by questions.

1. To judge comprehension

2. Drawing of inferences

3. Use of vocabulary

Composition

1. Agreement of subject with verb

2. Patterns of verb and their use.

3. Sequence of tenses.

4. Transformation of sentences-Compound, Complex,
Simple, Negative, Affirmative.

Grammar

. Spellings

. Word formation

. Antonyms and synonyms

. One word substitution

. Correct usage of articles

. Correct usage of prepositions

. Correct usage of adjectives-degrees of compariso

. Correct of conjunctions

© 00 N O 0o A W N P

. Correct usage of Nouns and Pronouns
10. Correct usage of numbers (Singular-Plural)
11. Word order

12. Correct usage of Adverbs



V. Idioms and Phrases

1. Use of simple idioms

2. Use of Common proverbs
V.  Direct/Indirect sentences; Narration change

1. Change of various types of sentences from diceicidirect form and vice-versa.
VI.  Active and Passive Voices

1. Change of all types of sentences from actiyeassive form and vice-versa.

MODEL QUESTIONS -ENGLISH
GROUP "X(TECHNICAL) & GROUP 'Y'TRADES

Select the correct verb
Q1.Besides his parents, he (was, werg)edsent at the functioAns :was

Identify the correct preposition

Q2.The thunder was accompanied _ a heavy rain.

(A)from (B)by (Clup (D)through Ans B
Choose the misspelt word.

Q3. (A) disparity (B)illusion (C)inevitable (D)ndle Ans :A

Fill in the blank with correct article.

Q4. things of beauty is a joy forever.

(A)the (B)a (C)an (D)none of these Ans A
Identify the antonym of the given word

Q.5 Embellish

(A)Sacrifice (B)Disfigure (C)Foreit  (D)Indict Ans B

Give one word substitute
Q6.A well experienced person. Ans :Veteran
Q7.An accident which results in death Ans :Fatal



Identify the correct choice
Q8.He has purchased a bag of
(A) floor  (B) flour (C) flower (D) flaur

Identify the synonym of the given word

Q9.Zest

(A) pleasure (B) distaste (C) flop (D) encicle

Fill in the blank with suitable conjunction

Q10.He will never pass,  hard he may try

Form an adjective from the given word

Q11.Gold

Give the plural of the given word

Q12.Hero

Fill in the blank with suitable word

Q13.Barking dogs_____ hite

(A) regularly (B) rarely (C) seldom (D) frequent
Identify the incorrect part

Q14.No boy/in his son's class/is as bright as/msis

(A) (B) (©) (D)

Identify the meaning of the given idioms/phrases
Q15.To live in fool's paradise

(A) to have an absolutely false conception (B)reate a stir
(C) to be clear (D) to get fairly involved
Identify the indirect speech

Ans :B

Ans :A

Ans :however

Ans :Golden

Ans :Heroes

Ans :C

Ans :D

Ans :A

Q16.The teacher said to me, "Be regular and leawn kgsson daily" The teacher :

(A) told me that to be regular and learn my lesdaity
(B) said to me regular and learn my lesson daily

(C) advised me to be regular and learn my lessdy da



(D) request me to be regular and learn lesson daily Ans :C
Change the voice

Q17.1t is time to buy books.

It is time

(A) all the books to be bought (B) for the bookd&bought

(C) for books have been bought (D) for books aredgbought Ans B
Read the following passage and answer Q No.18 to 20

‘A man who has no sense of history', Hitler declahs like a man who has no ears or
eyes. 'He himself claimed to have had a passiangeest in history since his school
days and he displayed considerable familiarity wiit@ course of European history. His
conversation was studied with historical referenaed historical parallels. More than
that, Hitler's whole cast of thought was historiald his sense of mission was derived
from his sense of history. Like his contemporargi8ger, Hitler was fascinated by the
rise and falbf civilisations. He was himself born at a criticabment in European history
when the liberal bourgeois world of the nineteea#imtury was disintegrating. What
would take its place? The future lays with the “Roishevik' ideology of the masses un-
less Europe could be saved by the Nazi racist adgodf the elite.

Q18.Who has no ears or eyes?

(A)A man having sense of history

(B)A man who has no sense of history

(C)A man who has extra knowledge

(D)A man having passionate interest in history Ans :B
Q19.Hitler displayed familiarity with:

(A) Scientific facts (B) Indian history

(C) European history (D) None of these Ans :C

Q20.Hitler's sense of mission was derived from :
(A) His love of mankind (B) his sense of history
(C) nowhere (D) contemporary society Ans :B



SYLLABUS - REASONING AND GENERAL AWARENESS

FOR GROUP 'Y'TRADES

Reasoning (Verbal and Non-Verbal)

1. Numerical Series

2. Distance and Direction Sense Test

3. Mathematical Operations (Assigning Vaueto Arithmetic Sign)
4. Number Ranking & Time Sequence Test
5.  Assign Artificial Vauesto Mathematical Digit
6. Inserting Correct Mathematical Sign

7. Human Relation

8. Coding and Decoding

9. OddMan Out

10. Mutual Relation Problem

11. Tallest, Youngest Relation

12. Dictionary Words

13.  Anaogy

14. Non Verbal Reasoning.

15. Number Coding.

16. Number Puzzle.

Mathematics

17. Ratio &Proportion

18. Average

19. LCM, HCF

20. Profit and Loss

21. Time, Distance and Speed

22. Percentage

23.  Simplification of Numbers

24,

Fractions



25.
26.
21.
28.

Areaof Triangle, Square and Rectangle

Surface area and volume of Cuboids, Cylinder, Cone and Sphere
Probability

Simple Trigonometry

General Knowledge and Current Affairs

29.
30.
31.
32.
33.
34.

Genera Science

Civics

Geography

Current Events

History

Basic Computer Operation



MODEL QUESTIONS OF REASONING AND GENERAL AWARENESS FOR GROUP Y’

TRADES

Q1. %1 <1 I fehHen! &A1 # B & |

Beri -Beri disease is caused by the deficiency of :
(A) fererf® = T/ Vitamin A @) fereT®= 41/ Vitamin B
(c) Tt 41 / Vitamin C () {1 21 / Vitamin D Ans : B

Q2. YNd @ TUfd & & | Who is the President of India?

(A) 3T dahe T8/ R Venkat Raman

B) T qr g Ded™ / APJ Abdul Kalam

(C) Ufewr uifew Pratibha Patil

(D) @¥E 31T / Hameed Ansari Ans: C
Q3 , W 1 AT Fe § A s g A A e |

An earthquake is recorded by by a/an:
(A) SIS/ Oscilloscope  (B) T2ahid / Spectroscope
(C) Y@l / Seismograph (D) AT/ Thermometer Ans : C

Q4 AT YN &l IUH TGHT ST o |
The first Governor Genera of free Indiawas :

(A) AT TS / C. Rajgopalachari

(B) @2 A3 g7/ Lord Mountbatten

(C) 1 71 9ATE / Dr. Rajendra Prasad

(D) 3T YT 37 =a7 / Dr. BR Ambedkar Ans : B

Q5. AT d1 31 Yefoid &7dn &/ C. B. | stands for
(A) YT @< are/ Central Board of India
(B) @19 =9 21T/ Central Bureau of Investigation
(C) T 3T JAfde IarT/ Chemical and Biological Industry
(D) 39T H H %15 2l / None of the above Ans : B

Q6. F H “HHreY” @ ad ¥ | ‘Monitor’ of a computer is:

(A) T A e / An output device

(B) Uk <1 JfeRT/ An Input device

(C) BT ATFAAY / Computer software

(D) 39Y H H %15 7=l / None of the above Ans : A

Q7. 2010 HMATA Teli dHT AR Hel [hdl AT T §HT &
In which city 2010 Commonwealth Games are scheduled to be held :
) =T 7 Sydney () @& / London
(C) 21T/ Toronto ) el / Delhi Ans : D



Q8. UG A:B=2:3 AN B:C=4:5 el C:A [hdd A &
AlfA:B=2:3and B:C=4:5thenC:Aisequalto:
(A) 15 : 8(B) 12 : 10 (©)8:5 (D)8:15 Ans : A

Q9. 3JfT 3 FEA &l AWd 17 & I9H 7 YU 1 T AFd 16 & ol a4 T & 2rl |
If the average of 3 numbers is 17 and that of the first two are 16, the third number is:
(A) 1 (B)16  (C) 17 (D) 19 Ans : D

Q10. &1 HEATAH! & TPHEA 20535 & | T[S 37T 90 HO Y0 37 & Al Il @0 HO 40 3 &Y |
The product of two numbers is 20535. If their H.C.F is 37 then find their L.C.M

Ans : 555
Q11. Ud 3EHI 379 912 @I 1980 ®IT H ey 10%0 &I @AW HAT & dl =12 &l &9 e 2T |
A man sold his horse for Rs.1980 and gained 10%. The horse was
bought for :
(A) Rs.1800 (B) Rs. 1782
(C)Rs 2178 (D) EC@_OF'[ g9 aﬁé TET / None of the above Ans : A
Q12. 18 ToHT UTc =T &l il @l AT 9fT HaUs H o @il |
Express a speed of 18 km per hour in meter per second : Ans : 54/4 /m/s
Q13. Ueh AT 31T F0 5000 UIHIE 1 STMEHT T 16 Y9 Tardl & | 9 feheT & el & |
A man saves 16% of his total income of Rs 5000 per month. How
much does he spend ? Ans : Rs. 4200
Q14. = &A@ HIAT / Simplify thefollowing :
171 +~19x9= "7
(A) 1 (B) 18 (C)81 (D)0 Ans: C

Q15. AT Ueh AT &l AT T s F 2 HeT &¥ © A7 ITHT YA 32 HiT & a1 o1ad &l &%
T 20T |

If the width of a rectangle is 2 metre less than its length and its perimeter is 32 meter then
the area of the rectangle is :

(A) 224 GRS (B) 108 T HY / me2
(C)99€|1'T‘$[/m2 (D)e‘>3E|TT‘$[/m2 Ans : D
Q6. =T =0Tl ¥ fere]ed Hwam 3 iy |

Find out the missing number in the following series
1,8,27,64,.....
(A) 121 (B) 81 (C) 125 (D) 144 Ans: C



Q17. T & Topdl Hren sferoy &l AR Iel | 92 arli AN J2a 3 fobl dien Iel | 319 98 Uniss g §
ELRICARCE A

Q1s.

Q109.

Q20.

Ravi travelled 4 km straight towards South. He turned left and travelled 3 km straight.
How far is he from the starting point ?

(A) 8 i /km (B) 5 /Akm  (C) 7 & AKkm (D) 2 fir /Akm Ans: B
1 % fegTd @1 9899 &' | Find the odd man out from the following :

(A) T /Ooty (B) ST Nainital

() Ig¥Madurai (D) Efs@TT/Darjeeling Ans : C

Ife ‘DOLLY 68 & dl ‘BOLLY’ fehaHl @1 7 | 1f ‘DOLLY’ is 68, then how much will be ‘BOLLY’?
(A) 65 (B) 66 (C) 86 (D) 63 Ans : B

=T 3TpiT § 9sAf= & ¥ W i A1 5l SR 7

Which  number should come in the region where question mark is

placed ? ‘E lﬁ la

(A) 10 (B) 8 (C) 16 (D) 21 Ans: C
Q1. 1 & 39 91 T &1 98 il o g T frerhe foenei & e © |
Select the lettered pair that has the same relationship as the pair of
words like - Teacher : Student.
(A) &g ¢ Raa@rsy Coach : Player (B) &I ¢ faar/Poet : Poetry
(C) U=7 8 U=/ Painter : Paint (D) <9t ¢ fthew/ Director : Film  Ans : A

Q22.

U U & AT @ @2 2 . Q, R & a/’i 3W ol P & glfed 37 @21 2 | O, N & e
FTPH A AT TS | S YA TS, R B eled AT TH Il AT TS | 5d T

A TT H T E |

Q23.

In a row seven persons are standing. Q is standing left to R but right to P. O is standing
right to N and left to P. Similarly, S is standing right to R and left to T. Find out who is
standing in the middle ?

(AP (B) R ©Q (D) O Ans : C
e+ JMAT+, -d FAX, T @& AT - AT X & AT + 2 A1 = B A =1 & 7
If + means =, — means X, + means — and X means +, what will be the

value of the following?
8+6+4-7x3
(A) -23/2 (B) 14 (C)-71/3 (D) 7 Ans: C



Q4. IS @D & MUW T F T&ET § 92M = T I AT 9 A 7

Q25.

26.

Q27.

Q28.

Q29.

Q30.

Which one comes first as per Dictionary words?
Knowledge, Knife, Known, Kite
(A) Kite (B) Knowledge (C) Known (D) Knife Ans : A

=1 4 1ot i 2T el bl 19 § g 3 HHIeh01 Hel &1 SR |

Which one of the following interchanges in signs would make the
given equation correct
3-9x27+9+3=3

(A) + 3f%and - (B) x 3f%and + (C) x 3fi%and = (D) x 3fi%and - Ans :D
[ few 2u faeedi 4 3 e ge @l 98 S |

Choose the missing term from the given alternative.
ZUA, XOC, VIE, TEG, (....)

(A) SAG  (B) RAI (C) RAJ (D) QAE Ans : B

Fret e & fobee T 7 % s T wew “9) T W e a8 7 TR © |
How many 1's are there in the following sequence which are
immediately preceded by but not immediately followed by 77?

719117189171213145713917
(A) ThOne (B) ZVTwo (C) T¥/Three (D) T Four Ans : A

e AT ATaT § BANK @I ‘ZyLr H Jied [ohaT SATAT & a1 &l AT WIT H ‘TAXES' I {69 H Fied
ERUSIENIN

If in a certain language ‘BANK' is coded as ‘ZYLI' then how will
‘TAXES'’ be coded in the same language ?

Ans : “RYVCQ”
= 4 3 yofa® & = &l gid I |
Fill in the blanks at the place of ? in the following :
Calendar : Date : : Dictionary : ?
(A) time (B) words (C) numbers (D) weight Ans : B

46 ) el § ANAT B T 12 AT | 37T § IHA BAF 991 8
Sarita ranks twelfth in a class of forty six. What will be her rank from
the last?
(A) 33 (B) 35 (C) 37 (D) 34 Ans : B



